The group G is isomorphic to the group labelled by [ 62, 1 ] in the Small Groups library.
Ordinary character table of G = D62:

la 3la 31b 3lc 31d 3le 31f 31g 31h 314 315 31k 31 31lm 31n 3lo 2a
x1 |1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
x2 |1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ~1
xs | 2 EQBL+EB1)3  EGBL?*+EGB1)*  EB1)3+EB1)?®  EGBL*+EB1)*  EGBL S+ EGBL*  EB1)S+EB1)?%  EGBLT+EBL*  EBLE+EGBD? EB1)Y+E31)?2 EGBDY+ BB EGHYM +EB1)2 EGBH2+EGBDY EGHB 4+ EGBD® E@EHM+EBDT EGBHY+ BB 0
xa | 2 EGBL2+EBD*®  EBD*+EGBD? EBLS+EGBD?® EGBDS+EGBD® EGDY+ EGBD?T EGDVZ+EGBDY EGDHY+EGBDY EGBDHY +EGBDY EBHB+EBD® EBHM+EB)X EGB°+EB1)?2 BB+ EBD)* E(31)°+ EB1)* E(31)%+ E(B1)?® E31)+ EB1)° 0
xs | 2 EBLP+EGBLD?®  EGBLS+EGBH® BB+ E(31)2 EGBDR2+EGHY EGBHY+EBDY EGEHE+EGBDE EGDY+EGHE BB+ EGBLH EGBL*+ E(BL? E@BL)+ BB EGBD2+E(31)? EB1)°+E(B1)2 BB+ EGBDHE EGHM 4+ E(B1)2 EGHM+EGBDHY 0
xe | 2 EBL*+E@BL?  EGBLE+EGBHE  EGD24+EBDY EGBDY +EGBDY EGBHM+E3BD)P EGBLT+EBLD?* EGBL2+EGBD?® BB+ EB1) EB1)°+ E(BL% BB+ EGBDE EGHRP 4+ EBDY® EGHM+EGBDYT EBHY+ EBLHH EBL+ E(BD?® EGBL2+EGBD® 0
x7 | 2 EB1)°+EBD*  EGBDI+EBDH2 EGHY + EGBDC EGDM + BB EGDS+EGBD?® EGBL+EGBDX EGD*+EBDY EGBLY+EBD)2 EBHM+EBHY EBH2+EBDY EGBHT+EBH* E(B1)?2+EB1)*? EB1)+EGBD*® EGBLE+EGBD?® EGDRB+EGBDE 0
xs | 2 EQBL°+EBD*® EGBLH2+EGBLHY EGBHE+EGBDY® EBLT+EGBL? EGBL)+EGBL)Y EB1)S+E(B1)%  EGLYM+EGBL? EGBLM+EGBDY EGBLE+E3L)*  EGBL)?+EBL)*  EGBL*+EB1)* EBLY+EBL* EGBLY+E31) E(31)+ E(B1)22 E3B1)3+E@B1L)? 0
xo | 2 EQBLT+EBLH* EGBHYM+EGHY EGBLHY+EB1)?Y EGB1)}+E31)*®  EGBL*+ EGBLY EGBLHM+E3B1)? EGBHB+ EGBD® EBLS+ E(BL E(B1)+E(31)%°  EGBLE+ BB EGBLY+EBDS EGB1)+E(31)*%2  EGBL?+ EGBLD*® E(B1)S+EB1)? EGBD2+EGHY 0
x| 2 EBLE+EBD® EGBHY+EGBDY  EGBLD+EBD? E(B1)+E(B1) EGLY+ EGBH2 EGBHY+EBDYT EGBHS+EBH®  EGBL2+EGBD?® EGBDI+EBHE EGHB+EGDHY® EB1S+EBD? EGB1)+E(31)%® EGHM+ BB EGDL2Z2+EBDHY EGBL*+EGBH)YT 0
xii| 2 EBL°+E(BL2 EBLYB+EBLY EGBL*+E(31)? EBL)°+E(B1)2 EGBLM™+EBDY  EGBLE+EBD? EGBL)+EGBLX EGHIY+EBDH EGDH2+EGHY EGBL3+EGBHE BB+ E3BD)® EGLY+EGBDC EGLHT+EGBH® EB1)2+EBDY EGHYM+EGBDHX 0
xi2 | 2 EGBDY+EBDH? EGBDM+EB1)2 E31)+ BB BB+ EGBD?2 EGH2+EGHY  EGBD2+EGBDHY® EGLE+EBDH® EGHB+EGBDY® EGBLP+EBH® EGDT+EGBH* EBHM4+EBDY  EBL*+ EB1)? EB1°+ E(BD?® EB1)Y 4+ EB1) E(31)°+ E(B1)% 0
xi3| 2 EGBDI+EB)* EGBL+E(B1)*2  EB1)2+EB1)? EBHP+EGBD® EGBLDT+ EGBLH* EGBLY+ EB1)2T EGBDY+ BB EB1)5+ EB1?* EB1)S+E3B1)*® EGHM+ EGBHY  EB1)3+EB1)2 EGBL3+E(B1)® EGH2+EGBHY  EB1)+E31)3°  EGBDY+ BB 0
xie | 2 EGBD2+EGBHY EGBL +EGBD*  EB1)°+E(31)% EBHM+EGDY EGBL2+EBDY  EGDY+EGBL? BB+ EGBD?2 BB+ EBD)® EGHY +EGBDC EGDY+EGDY  EGBL3+E(B1)®P EGHM+EGBD* EGBL+EBD BB+ EGBDY® EBLDS+E(BH® 0
xi5 | 2 EGBDB4+EBD)®  EB1)°+EGBD* EB)S+EGBD?® EGDY+ BB BB+ EGBD® EGDY +EGBDS  EGB12+E(BH)Y EGHYM +EGBDP EGBDT+EB)* EGBDS+EBH® EBH2+EBLY  E(B1)+EB1)° EBHM4+ EBD)YT EBL*+ BB EB1)°+ E(BD?2 0
xi6 | 2 EGOM+EGBDYT EGBL3+EGBHE  EGHM4+E(B12 EBDS+E(BD?® EGLS+EGBDHE  EB1)°+ E(31)?2  E(BL)°+EGBD* EGD2+EBDY  EB1)2+E(31D)%  EGBLY+EBLY BB+ EBD)*  EGHB+EGD® EGDY+ EGBDHY  EGBDY+ E(B1)2Y EGBLT+EGBD* 0
xiz | 2 EGBL®+EGBDIC BB+ BB BEGHM 4+ EBDYT  EBL2+E(B1)2 EGBLYB+EBDY EB1)+ EBD?® EBDR2+EGBDY  EGL*+ EBD)Y EGLHY + EGBD* BB+ BB BB+ B2 EBLS+ E(B1)2  E(B1)Y+ E(BD)*2 EB1L)T+ E(B1)%* EGBLE+EGBDHE 0
Trivial source character table of G = D62 at p = 31:

Normalisers IV; Ny Ny

p-subgroups of G up to conjugacy in G =l P,

Representatives n; € N; la 2a | la 2a

O-x1+1-x2+1-x3+1-xu+1-xs+1-x6+1-x7+1-xs+1-x9+1-x10+1-x11+1-x12+1-x3+1-xu+1-x5+1-x6+1-x17|31 —-1| 0
1-x1+0-x2o+1-xs+1-xa+1-xs+1-x6+1-x7+1-xg+1-x9+1-x10+1-x11+1-xi2+1-x13+1-xa+1-xi5+1-x16+1-x1731 1 |0 O
1
1

1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-Xx12+0-x13+0-x14+0-x15+0-x16+0-x17| 1 1
O-x1+1-x2+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 1 -1

P = Group([()]) = 1
Py = Group([(1,55,47,39,31,23,15,7,61,53,45,37,29,21,13,5,59, 51,43, 35,27, 19, 11, 3,57, 49, 41, 33, 25, 17,9)(2, 56, 48, 40, 32, 24, 16, 8, 62, 54, 46, 38, 30, 22, 14, 6, 60, 52, 44, 36, 28, 20, 12, 4, 58, 50, 42, 34, 26, 18, 10)]) = C31

Ny = Group([(1,2

) ,7,9,11,13,15, 17,19, 21, 23, 25, 27, 29, 31, 33, 35, 37, 39, 41, 43, 45, 47, 49, 51, 53, 55, 57, 59, 61)(2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24, 26, 28, 30, 32, 34, 36, 38, 40, 42, 44, 46, 48, 50, 52, 54, 56, 58, 60, 62)]) = D62
Ny = Group([(1,55

(3,62)(4,61)(5,60)(6,59)(7, 58)(8, 57)(9,56)(10, 55) (11, 54) (12, 53)(13, 52) (14, 51)(15, 50) (16, 49) (17, 48) (18, 47) (19, 46)(20, 45) (21, 44) (22, 43)(23, 42) (24, 41) (25, 40) (26, 39) (27, 38)(28, 37)(29, 36)(30, 35)(31, 34)(32, 33),
, 15 ( )(7,58)(8,57)(9,56)(10, 55)(11, 54)(12, 53) (13, 52) (14, 51)(15, 50) (16, 49) (17, 48)(18, 47) (19, 46) (20, 45) (21, 44) (22, 43) (23, 42) (24, 41)(25, 40) (26, 39) (27, 38)(28, 37)(29, 36) (30, 35)(31, 34)(32, 33)]) = D62

) ) 39) : (1,3,5
47,39,31,23,15,7,61, 53,45, 37,29, 21,13, 5,59, 51,43, 35,27, 19, 11, 3,57, 49, 41, 33, 25, 17, 9)(2, 56, 48, 40, 32, 24, 16, 8, 62, 54, 46, 38, 30, 22, 14, 6, 60, 52, 44, 36, 28, 20, 12, 4, 58, 50, 42, 34, 26, 18, 10), (1, 2)(3, 62)(4, 61)(5, 60) (6, 5



